2T 23 BBL 098 ERY 1By BRI P I

RSP 5 RI%FLE BB -Ex-FR- &P

P S T 50 4 48 PpEAIS MAi1g3

UK | 2k | GEPR [ F=p §3-3 ~ 42

<FAREEREEEM  SRHIRTFsHo >

—  EREE ()
—\ —\ —\
() LEzEft s SEER T =(100:0 J =001:0) » kK =00 1) » BIFF#EEE 2
A TxT=00® Txj=k©Tfxk=1 OTx k=7

() 2. ZE[MTF o A x-1=01EF A

(A) TE XHIFVELR (B) “HITXEHVELR (C) TH XHhAY-FE (D) P17 X dihy ¥
() 3. 5ZEfETF WP HEi2x-—y-z-11=0 * x+y—-2z-19=0 * AlZA R

(A) 30°,150° (B) 45°,135° (C) 60°,120° (D) 90°,90°

1 2 3 1 3 5 1 10 97 00 2
()4 THIAENERNZZE? (A4 5 6/ B)|7 9 11| (C)|2 20 98 (D)[0 3 0
7 8 9 13 15 17 3 30 99 4 0 0
a b c
() 5.&=METI1 1 O - FIHZBEAIREE A
X y z
a C
(A)‘ Tlx 2 (B) ‘ Xz (C)‘ Xz (D) ‘ Tlx oz
() 6 RFEIISt - oKk 2w 12 ‘z(A) 9 (8)9 (©)-1 D)1
12349 12359
01 92 03
() 7.3%=PETHI 0 k1E|94 95 96 |=(A)3 (B)-3 (C)6 (D)-6
97 98 100
1 a a’ 1 a at 4 2a+99 a’(a+l)
() 8375l b b’l=2. L b b%=6 k(M4 20+99 b’(b+1)=(A)48 (B)64 (C)72 (D) 96
1 ¢ c? 1 ¢ ¢t 4 2c+99 c%(c+1)
( )9.&:7—5—@%@{;?13;; eI d‘z?w T f‘=9 - HIX=

(A)1 (B)2 (C)3 (D)4
()10 5% NYIFEFERA » RI[EHISEER T A AFAE 2

o[t mf el ol

» SEFERE (A% 40D)

L3RR > 3 B A |
HRzERId o @ B b mEMEmE | a =2 b= a1l < b =
HZERIT 3 =(1-23)0 b =(4-5:6)Ha x b=
EREZERA S A1 203) 0 B(2°304)> C(4> 3 2) HI/A ABCHYIHfE=

[

|3 =2 |5 =8 1|7 <« 0=

A WD




5. EZERIT s 2 =(102°1) b =2 -1°2)> ¢ =@ 4°08la > b ¢ FRERITTATEEL
ol
6. ELZEfS > FEIBEEA(-L 0 55 ~2)  SEEER T =(10 0 4)  BIEETRE Lt ax+ by + cz +d =0
T
7. 522 0 BEAL 0 2 0 3)FEE x — 2y + 27 + 6 = 0 HYFERE =
8. B ZE[E T > WS © 2x—y+22-5=0 * 2x—y+2z-11=0 * AR TR EHYVEERE=
9. =TT —INHFR4EX-2y+32=2 > 2Xx+Yy—-4z=4 > 3Xx-4y+z=2 > HI|X=
1 2 3|7
10. 32 =I5 — RO RRAALOBTEE % > (LkEEERE 0 1 1|2 HIX=
0 0 1|1
11. 3RFEfE A = 3 2} ’ B:F 1} » HI3A-2B=
1 -4 0 2
12. B 4EME A = 0 _7} , B{_B 8 } , <:=[51 _2} » Al AC +BC =
_43 18 —-43 -18 7 18
13, Sl A 2 ﬂ e
o 31 2 1 \ _
14, 335l A } B:[ } | KETEE X R AX = B » BIKEIE X =
11 4 30
o a bl_.. (2 1 +by=4 3
15, axaﬁ@L d}ﬁ%}iﬁ@z%{s _} B n:—umﬂ{ o HHECX )=
EEMW R - B97 W
— ~ B (TR
1 2 3 4 5 6 7 8 9 10
D C C D D A B B A B
=~ ALY
1 2 3 4 5
0 6 (-3°6°-3) \J6 15
6 7 8 9 10
X+47+9=0 3 2 3 2
11 12 13 14 15
5 4 7 18 -7 5 5 4 (9 ’ 7)
3 -16 0 0 3 -2 -13 -11







